
ORSON SERIES
ROCKING CHAIR



350



 
 

 

 

 

 

1 x 2pcs 

Front legs (Long) 

1L 1R 

2 x 2pcs 

Back legs (Short) 

2L 
2R 

3 x 2pcs 

Front & back rails (Long) 

4 x 2pcs 

Side rails (Long) 

5 x 2pcs 

Rockers 

6 x 2pcs 

Arms 

6R 

 

 

6L 

7 x 1pc 

Seat 

8  x 1pc 

Backrest 

 

 

 

A x 8 + 2pcs 

Bolt 5/16''x65 

 

 

 
 

 

 

B x 4 + 1pcs 

Bolt 5/16"x50 

 

 

 
 

 

 

C x 12 + 2pcs 

Bolt 1/4''x65 

 

 

 
 

 

 

D x 8 + 2pcs 

Wooden peg 

E x 1pc 

Allen key 

F x 8 + 2pcs 

Washer M8.5/20x1 

  

 



4

4

1R
2R

6R

5

4

1L
2L

6L

5

7

8

3



D
C

x2
x4

E x1

5

4

C

C 1R

2R

4

D

6R

C

C

D
C

x2
x4

D

1L

2L

6L

C
E

E x1

C
E



A

5

6

E
A

x1
x2

A x2

5

A

A

E

1L

2L

A

E

1R

2R

E x1



D
C
B

E

x2
x2

x2
x1

7

6

B

D
C
B

E

x2
x2

x2
x1

EC

D

B

C

C

B

C

C

B

E
C

D

D

D

7

EE

B

F

F x2

F x2
B

E

F

F

F

F

F

6L

6R



A x4

8

7

A

A

8
E x1

8 Now you can fully tighten all screws in Step 5 and Step 6 to 100%.

A

E
F

F x4

F

F



9


